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9 Abdul drives 105 miles at an average speed of 70 miles per hour.
He then drives 100 miles at an average speed of 40 miles per hour.

Calculate his average speed for the whole journey.
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12 (a) A ship travels at a constant speed.
The ship travels 60 miles in 2 hours 30 minutes.

How far does it travel in 6 hours?

- miles [3]
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12 (a) A ship travels at a constant speed.
The ship travels 60 miles in 2 hours 30 minutes.

How far does it travel in 6 hours?
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12 Trish and Marc both cycled the same distance.
Trish completed the distance in 2 hours.
Her average speed was 16 miles per hour.
Marc completed the distance in 4 hours.

Find Marc’s average speed for the journey.

Video created by W Neill
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Trish completed the distance in 2 hours.

Her average speed was 16 miles per hour. D
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14 Halina cycled from A to B at an average speed of 26 km per hour.
She then cycled from B to C at an average speed of 20 km per hour.

B
Not to scale

A C

She left A at 10.00am, did not stop at B and arrived at C at 3.00 pm.
(a) It took Halina x hours to cycle from A to B.

(i) Explain why the distance from A to B, in kilometres, is 26x.
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(b) The total distance cycled by Halina from Ato C is 118km.

Find the distance from A to B.



14 Halina cycled from A to B at an average speed of 26 km per hour. Created by W Neill
She then cycled from B to C at an average speed of 20 km per hour. Y
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(b) The total distance cycled by Halina from Ato C is 118km.
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Find the distance from A to B.
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19 The scale diagram below shows two cities, P and Q.

A plane departs from P at 0947 and arrives at Q at 1207.

R16 (a) Work out the average speed, in kilometres per hour, of the plane.

R20

Scale: 1cm represents 125km

8] ssscunsansrareaTsT km/h

(b) Give one reason why your answer may be inaccurate.
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20 A bee flies from its hive to a flower at a constant speed of 7.5 metres per second for 10 seconds.
R21 The bee then takes 15 seconds to fly back to the hive.
Assume the bee always flies in a straight line.

(a) Ignoring the time spent at the flower, work out the overall average speed of the bee in its
flight from the hive to the flower and back.

(@) metres per second [4]

(b) If the bee is not assumed to fly in a straight line, how might your answer be affected?
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20 A bee flies from its hive to a flower at a constant speed of 7.5 metres per second for 10 seconds.
The bee then takes 15 seconds to fly back to the hive.

RZ1 Assume the bee always flies in a straight line.
(a) Ignoring the time spent at the flower, work out the overall average speed of the bee in its
flight from the hive to the flower and back. |
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(b) If the bee is not assumed to fly in a straight line, how might your answer be affected?
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2  Eric and Geraldine both drove from town A4 to town B.

route 1

36.4 miles town B

route 2

65.2 miles
town A4

Both Eric and Geraldine left town 4 at 2 pm.

Eric drove on route 1
He got to town B at 2 48 pm.

Geraldine drove on route 2
She got to town B at 3 25pm.

Who drove at the greater average speed?
You must show all your working.

(Total for Question 2 is 3 marks)
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9 Emily drives 186 miles in 3 hours.

(a) What 1s her average speed?

Video created by W Neill



Video created by W Neill
Sarah drives at an average speed of 58 mph for 4 hours.

(b) How many miles does Sarah drive?

...................................................... miles
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9 Emily drives 186 miles in 3 hours.
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Sarah drives at an average speed for 4 hours.

(b) How many miles does Sarah drive?
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14 Ayshab walked x miles at 4 mph.
She then walked 2x miles at 3 mph.

(a) Find Ayshab’s average speed for the whole journey.
Give your answer as a mixed number.

R20



Video created by W Neill

The second part of the journey took 25 minutes longer than the first part of the journey.

(b) Find the value of x.

Al6

(Total for Question 14 is 8 marks)
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The second part of the journey toc@han the first part of the journey. -

(b) Find the value of x.
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; _ _ _ Video created by W Neill
17 A train travelled along a track in 110 minutes, correct to the nearest 5 minutes.

Jake finds out that the track 1s 270 km long.
He assumes that the track has been measured correct to the nearest 10 km.

(a) Could the average speed of the train have been greater than 160 km/h?
You must show how you get your answer.

(4)

Jake’s assumption was wrong.
The track was measured correct to the nearest 5 km.

(b) Explain how this could affect your decision in part (a).
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17 A train travelled along a track in 110 minutes, correct to the nearest 5 minutes.

Jake finds out that the track 1s 270 km long.
He assumes that the track has been measured correct to the nearest 10 km.
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9 James and Peter cycled along the same 50 km route. _
Created by W Neill

James took 2% hours to cycle the 50km.

Peter started to cycle 5 minutes after James started to cycle.
Peter caught up with James when they had both cycled 15km.

James and Peter both cycled at constant speeds.

Work out Peter’s speed.

(Total for Question 9 is S marks)
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1
James took 2; hours to cycle the 50km.
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Work out Peter’s speed.
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16 The petrol consumption of a car. in litres per 100 kilometres, is given by the formula Created by W Neill

100 * Number of litres of petrol used
Number of kilometres travelled

Petrol consumption =

Nathan'’s car travelled 148 kilometres. correct to 3 significant figures.
The car used 11.8 litres of petrol. correct to 3 significant figures.

Nathan says,
“My car used less than 8 litres of petrol per 100 kilometres.”

Could Nathan be wrong?
You must show how you get your answer.

(Total for Question 16 is 3 marks)
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distance
22 (b) Average speed= —————
time

If the distance is halved and the time is doubled, what happens to the average speed?

Circle your answer.
[1 mark]

, 3. x 4 no change =2 =4
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(b)  Average speed = m
time
R0

If the distance is halved and the time is doubled, what happens to the average speed?
Circle your answer.
[1 mark]

, 3. x 4 no change +2
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21 The distance by road from Newport to London is 140 miles.

Tom travels by coach from Newport to London.
The coach leaves Newport at 1.30 pm

21 (a) He assumes the coach will travel at an average speed of 50 mph

R20/21 Use his assumption to work out the arrival time in London.
[3 marks]




Video created by W Neill
21 The distance by road from Newport to London is 140 miles.

Tom travels by coach from Newport to London.
The coach leaves Newport at 1.30 pm

21 (b) Infact, the coach has a lower average speed.

How does this affect the arrival time?
[1 mark]
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The distance by road from Newport to London is 140 miles.

Tom travels by coach from Newport to London.
The coach leaves Newport at 1.30 pm

He assumes the coach will travel at an average speed of 50 mph

Use his assumption to work out the arrival time in London.
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21 The distance by road from Newport to London is 140 miles.

Tom travels by coach from Newport to London.
The coach leaves Newport at 1.30 pm

(b)  Infact, the coach has@ lower average speeD

How does this affect the arrival time?

[1 mark]
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27 (a) Rearrange v=u+at tomake rthe subject of the formula.
[2 marks]
A9a/b

Answer




27 (b)

R20
A29

Complete this table with consistent metric units.

Video created by W Neill

Distance

Time

Speed

Acceleration

[2 marks]
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27 (a) Rearrange v=u+at tomake rthe subject of the formula.
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(b)

R20
A29

Complete this table with consistent metric units.
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13 A car travels 3.5 miles in 5 minutes.

R20 Work out the average speed in miles per hour.

R21

[3 marks]

Answer mph
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R20
R21

A car travels 3.5 miles in 5 minutes.

Work out the average speed in miles per hour.

35 e
() miles

x|

Answer

[3 marks]

mph




17

Liam drives his car.

He drives the first 9 miles in 9 minutes.

He then drives at an average speed of 70 miles per hour for 1 hour 36 minutes.

He finds this information about his car.

Average speed

Miles travelled per gallon

65 miles per hour or less

50

More than 65 miles per hour

40

Use the information to show that his car uses less than 3 gallons of petrol for the drive.

\idan ananda

[5 marks]



17 Liam drives his car. e
Ru He drives the first 9 miles in 9 minutes. D
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21 Priya and Joe travel the same 16.8 km route. Vidma mmnien
R21 Priya starts at 9.00 am and walks at a constant speed of 6 km/h
Joe starts at 9.30 am and runs at a constant speed.
Joe overtakes Priya at 10.20 am

At what time does Joe finish the route?
[5 marks]

Answer
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